
       Subject: Statistics 
                   Created by: Marija Stanojcic 
                   Revised: 07/10/2018 

 Statistical Tests for Population Mean (Z-test and T-test) 



       Subject: Statistics 
                   Created by: Marija Stanojcic 
                   Revised: 07/10/2018 

 Statistical Tests for Population Mean (Z-test and T-test) 

                                                                                                   

 

Step 4: Decision Rule 

a. p-value approach. Compute p-value, Reject H0 when p-value < α. 

Type of hypothesis P-value (Z-test) P-value (T-test) 

Two sided: (Ha: µ ≠ µ0) p-value = 2 · P( Z ≥ | computed z | ) p-value = 2· P( t ≥ | computed t | ) 
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Two types of errors in decision making 

Reality 

Decision 

H0 is True 

(Ha is False) 

H0 is False  

(Ha is True) 

Fail to Reject H0 

(Accept H0) 

Correct Decision Type II error β 

Reject H0 Type I error α Correct Decision  

Power = 1- β 

 

 

 

 

 

 

 

Confidence interval: The (1− α)% confidence interval estimate for population mean is 

 

      

 

 

 

References: The following were referred to during the creation of this handout: An Introduction to 

Statistical Methods and Data Analysis, 6th edition, Ott Longneckage5(r); TJ
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